This question paper contains 16+4 printed pages]

HPAS (Main)—2012

HORTICULTURE

- Paper 1

Time : 3 Hours Maximum Marks : 150

Note — Attempt Five questions in all. Question No. 1 is
compulsory. All guestions carry equal marks.
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) Differentiate the terms ‘pruning’ and ‘training’ giving

suitable examples. Discuss various pruning and training
methods adopted in stone fruits.
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Write short notes on the following :

(@@ Steps involved in micropropagation of fruit

plants.

() Problems in meeting the chilling requirements
in temperate fruits in reference to global

warming.

(0 Lab to land and T & V programmes in

Horticulture.

(d Use of plant growing structures in propagation

and production of fruit plants.

(¢) Problems of pollination and fruit get in temperate

fruits and their remedial measures.
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Discuss the economic principles adopted in horticultural
crops. Explain the use of planning and budgeting

= technigues in fruit production.
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Describe the production techniques of Apple and Mango

under the following heads :
(2) Area and production
(1) Climatic requirement
(itf) Improved varieties

(iv) Layout and planting
(v) Manures and fertilizers

(vt) Harvesting and vield.
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5. Write family, botanical name, origin and their growing

regions in India of the following fruits :
()  Litchi
() Coconut

(ii5) Hazel nut
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(iv) Olive
() Pineapple
© (vi) Jackfruit
(vii) Persimon
(viit) Plum
(ix) Cashewnut-

(x) Orange.
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Write True (T) and False (F) for the following

statements :

(@ Fruit necrosis is caused mainly due to the

deficiency of Mo. T/F

(6) The fertilizer muriate of potash is chemically

potassium chloride. T/F

P.T.O.
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(c) ‘Ratna’ is a popular mango variety of West

Bengal. T/F

(d) Ethrel and Calcium carbide are used for ribening

of fruits.

T/F
(e) Zeatin is a synthetic cytokinin. T/F
f)] Boric acid contains nearly 18% boron. T/F

@ A solution of 40 ppm NAA is prepared by dissolving

40 mg NAA in nearly.one litre of water. T/F
(h) “Vered' is a low-chill variety of pear. T/F
(@) Govind is popular variety of pecan nut. T/F

)] Varieties with prefix ‘Arka’ are released from [IHR,

Hessaraghatta, T/F
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Discuss the socio-economie survey and status of

different categories of farmers in Himalayan hills.
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8. Choose the correct answer :

(@ ‘Pectin' is important for making :

®

() Jam
(@ Jelly
(i) Pickle

(i) None of the above
Vitamin A is also known as :
(#)  Riboflavin

(@) Niacin

({ii) Retinol

(iv) Tocoferol

P.T.O.
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(¢) Mango is rich source of :
(i) Vitamin B
(fiy Vitamin C
(iiy) Vitamin A
(iv) Vitamin E
(@ NAA 40 ppm is effective in :
(%) Control of fruit drop
(@) Fruit ripening
(iity Flowering

(iv) Defoliation
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(¢  Which of the following is a dicot ?

(7)  Banana

(i) Date

(@) Apple

(iv) Pineapple

(!  Which of the following does not belong to family

Rosaceae :
' ()  Peach
() Pear

(iiY) Pecan nut

(i) Plum

P.T.O.
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@ The sugar contained by most of the fruits is :
(2) Mannose
(i) Fructose
(iz5y Glucose
(iv) Ribose

(*) The appropriate pressure for heat sterilization of

food products is :

(¥ 5 1b
@G 10 1b
(iii) 15 1b

(iv) 30 Ib
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Auxin is naturally produced in :

(i) Shoot tip

(i) Root tip

(i) Young leaves

(iv) Seed embryo
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The following is not a variety of apple :

_ () Royal Delicious

(i) Buckingham

(i) Benoni

(iv) Bartlett

P.T.O.
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